ANALYSIS:
1. You should compare summary statistics:
I notice that both the mean and the median are higher for boys.  

The mean for boys is 170.1 cm compared with 163.9cm for girls.  

The median for boys is 170 cm and the median for girls is 164 cm.  

The boys mean and median is 6 cm taller than the girls.

The lower quartile for the boys (164 cm) is higher than the lower quartile (160 cm) for the girls.

The boys’ lower quartile is the same as the girls’ median.  This says that 75% of the boys are as tall as 50% of the girls.

The upper quartile for the girls is 169 cm.  This is lower than the median for boys.  This says that 50% of the boys are taller than 75% of the girls.

2. Look at the shape of the data: 

I notice that both sets of data have a hump or bump in the middle.  The girls’ data bump is a lot higher because there are more girls than boys.  There are 158 girls and 97 boys.  Both sets of data have a few unusually small values showing a slight skew to the left. 

3. Look at the spread of the data:
I notice that the boys’ data appears to be a bit more spread than the girls’ data.  This is particularly noticeable in the middle 50% of the data values where the boys IQ range is 14 cm compared with the girls IQ range of 9 cm.  In the box and whisker plot it is shown by the fact that the “box”, representing the middle 50%, for boys is wider than the girls. 

4. Look at the middle 50% of the data:
I notice that there is a little overlap between the middle 50% of values for boys and the middle 50% of values for girls.  The boys’ middle 50% (164-178) is higher and more spread than the girls middle 50% (160-169).

CONCLUSION:

Show support (or otherwise) for the hypothesis:
Based on these data it seems that Year 10 boys in 2005 were on average taller than the Year 10 girls.

Use your statistics to explain/justify your statement above:

(Talk about the four points in your analysis here, but make these into sentences)

The median and mean for the boys was 170 cm compared with the median and mean for girls of 164 cm.  Boys are on average 6 cm taller than girls in Year 10 in 2005.
There is a small amount of overlap between the middle 50% of values.  This small overlap supports the conclusion that boys are on average taller than girls.  Also 75% of the boys are taller than 50% of the girls.

Explain how the sample findings relate to the target population:

The findings of this investigation suggest that boys are taller than girls in Year 10.  These findings could be applied to the Year 10 population in general in New Zealand.   It would appear to be true for 2005.

